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Name: __________________________________



1
If [image: image1.png]) =



 and [image: image2.png]a(x)=2x+5



, what is the value of [image: image3.png]


?

1) [image: image4.png]-13



   2) 3.5   3) 3   4) 6

2
If [image: image5.png]1
)= g5+



 and [image: image6.png]() =



, what is the value of [image: image7.png]


?

1) 0   2) 9   3) 5   4) 4

3
If [image: image8.png]


 and [image: image9.png]


, then [image: image10.png]


 is equal to

1) [image: image11.png]


   2) [image: image12.png]


   3) [image: image13.png]


   4) 7

4
If [image: image14.png]


 and [image: image15.png]


, what is the value of [image: image16.png]


?

1) [image: image17.png]~127



   2) [image: image18.png]-23



   3) 25   4) 129

5
If [image: image19.png]f(z) = 3x°



 and [image: image20.png]a(x) = ~f2x



, what is the value of [image: image21.png](fe g)(8)



?

1) [image: image22.png]


   2) 16   3) 48   4) 144

6
If [image: image23.png]f(x) = 5x°



 and [image: image24.png]a(x) = ~f2x



, what is the value of [image: image25.png](fe g)(8)



?

1) [image: image26.png]


   2) 16   3) 80   4) 1,280

7
If [image: image27.png]


 and [image: image28.png]a(x) = ~f1-x



, what is the value of [image: image29.png]


?

1) [image: image30.png]203



   2) 2   3) 8   4) 13

8
If [image: image31.png]a(x) = fx



 and [image: image32.png]


, what is [image: image33.png]


?

1) 5   2) 7   3) [image: image34.png]


   4) [image: image35.png]




9
If [image: image36.png]fix)=x-3



 and [image: image37.png]


, find [image: image38.png]


.

1) 0   2) 6   3) 24   4) 30

10
If [image: image39.png]


 and [image: image40.png]gx) =

[



, then [image: image41.png]


 is equal to

1) [image: image42.png]| I =



   2) [image: image43.png]


   3) [image: image44.png])=



   4) 4

11
The temperature generated by an electrical circuit is represented by [image: image45.png]


, where m is the number of moving parts.  The resistance of the same circuit is represented by [image: image46.png]50+ 5¢




, where t is the temperature.  What is the resistance in a circuit that has four moving parts?

1) 51   2) 156   3) 174   4) 8,670

12
The accompanying tables define functions f and g.

[image: image47.png]fx)





[image: image48.png]gix)| 4

12





What is [image: image49.png]


?

1) 6   2) 2   3) 8   4) 4

13
The accompanying graph is a sketch of the function [image: image50.png]


 over the interval [image: image51.png]


.
[image: image52.png]|BNp ARSEaaRE:




What is the value of [image: image53.png](fe £)(6)



?



1) 1   2) 2   3) 0   4) [image: image54.png]





1
ANS:
3

[image: image55.png]@)= @-3--1



.  [image: image56.png]g—-1)=2(-1)+5=73




REF:
fall0902a2

2
ANS:
3

[image: image57.png](-5 = L (9)-22-4-2- -6



.  [image: image58.png]g(fﬁ):%(fﬁ)+8:73+8:





REF:
011403a2

3
ANS:
1

[image: image59.png]EORESH
-7

F==2n+7
-7




REF:
010501b

4
ANS:
4

[image: image60.png]a(-2)=3(-2)-2




  [image: image61.png]f(-8) = 2(-8)% +

28+1=129




REF:
061503a2

5
ANS:
3
REF:
069915siii

6
ANS:
3

[image: image62.png]2@ =+28=4
F(&) =54y =80




REF:
010207b

7
ANS:
3

[image: image63.png]8-y =VT=x = =5 -2
f=2"+4=38




REF:
060806b

8
ANS:
4
REF:
069423siii

9
ANS:
3
REF:
019820siii

10
ANS:
4

[image: image64.png]


.  [image: image65.png]f(2)=4(2)-2° = 4




REF:
011204a2

11
ANS:
3

[image: image66.png]£(4)=0.3(4)2 =438



.  [image: image67.png]2(4.8)=150+5(4.8





REF:
060605b

12
ANS:
3

f(3) = 5, g(5) = 8
REF:
010812b

13
ANS:
4

[image: image68.png]Ji6)



, [image: image69.png]



REF:
080520b

